CM3015-WA01 CS-21-104

WORK AUTHORIZATION #CM3015 WA01 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

Consultant:	Asphalt Paving Systems, Inc.
Contract Number:	CM3015
Contact Name:	Robert Capoferri
Contact Number:	813-788-0010
Email:	Amandareichartaps@gmail.com

	CURRENT WO	RK AUTHORIZATION	
Project Short Title:	Chip Seal Surface Treat	ment to Prepared Roads	
		CONTRACT OVER	VIEW
Date Submitted	10/1/2021	Total of Previous Authorizations	0
Amount	\$474,115.35	This Work Authorization	\$474,115.35
Scheduled Completion	NLT 9/10/2022	Current Contract Total	\$474,115.35

This Work Authorization is to the AGREEMENT between Nassau County and Asphalt Paving Systems, Inc.. ("Vendor") for 2021 and 2022 Double Chip Seal Project based on the Alternative Paving Methods Contract, dated July 12, 2021. The services to be provided under this Work Authorization are as follows:

ARTICLE 1. Services Described as:

Vendor shall provide a Double Chip Seal Surface Treatment to the 2021 and 2022 list of prepared roads, a copy of which is attached hereto as Exhibit "A".

ARTICLE 2. Time Schedule

Vendor anticipates their earliest starting date to be on March 21, 2022 and the completion date of no later than September 10, 2022 to complete the Scope of Work.

ARTICLE 3. Budget

Vendor will perform the services outlined herein for the lump sum amount of \$474,115.35. Vendor will be using rates previously established under Contract CM3015.

ARTICLE 4. Other Provisions

The Services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties. In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this Work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY: Robert CapoFerri

Print Name: Rober	t Capoferri
Title: President	
Date: 11/16/2021	

Account number(s): 03404541-546000 DBCHP

RECOMMENDED AND APPROVED BY NASSAU COUNTY:

County Engineer:

Procurement:

Office of Management & Budget:

County Manager:

Ex-Officio Clerk:

County Attorney:

Doug Podiak Department Head or Designee

Marshall Eyerman

Marshall Eyerman

Marshall Eyerman

TALO E. Popy AICP

Taco E. Pope, AICP

See below

John A. Crawford

Denise C. May

Michael S. Mullin

APPROVED by the BOARD OF COUNTY COMMISSIONERS, this <u>13th</u> day of December ,2021.

> BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

Thomas R. For Chairman

ACCOUNT NO.: 03404541-546000 DBCHP

ATTESTATION: Only to Authenticity as to Chairman's Signature:

John A. Crawford, Ex-Officio Clerk

CM3015-WA01

DocuSign Envelope ID: 60414730-E704-4D65-9A39-E6B9953FB622

EXHIBIT "A"



David Hearn Nassau County Road and Bridge Department 37356 Pea Farm Rd Hilliard, Florida 32046 904-530-6175 Office Project proposal

RE:

TO:

Product	Description	Units	Quantity	U	nit Price		Total Price
			1	-		-	_
	Christopher Lane			+			
4.00	Double Application Chip Seal	SY	2,289.00	\$	4.30	\$	9,842.7
6.00	Emulsion (prime for base including sand)	GAL	504	\$	3.05	\$	1,537.2
7.00	Emulsion for Fog Seal	GAL	504	\$	3.00	\$	1,512.0
8.00	Chip Seal Driveways	EA	14.00	\$	300.00	\$	4,200.0
						\$	17,091.9
	Duck Lake Dr E						
4.00	Double Application Chip Seal	SY	3,578.00	\$	4.30	\$	15,385.4
6.00	Emulsion (prime for base including sand)	GAL	787	\$	3.05	\$	2,400.3
7.00	Emulsion for Fog Seal	GAL	787	\$	3.00	\$	2,361.0
8.00	Chip Seal Driveways	EA	15.00	5	300.00	\$	4,500.0
						\$	24,646.7
	Condor Lane						
4.00	Double Application Chip Seal	SY	2,178.00	\$	4.30	\$	9,365.4
6.00	Emulsion (prime for base including sand)	GAL	479	\$	3.05	\$	1,460.9
7.00	Emulsion for Fog Seal	GAL	479	\$	3.00	\$	1,437.0
8.00	Chip Seal Driveways	EA	6.00	\$	300.00	\$	1,800.0
						\$	14,063.3
	Fouraker Rd						
4.00	Double Application Chip Seal	SY	3,056.00	\$	4.30	\$	13,140.8
6.00	Emulsion (prime for base including sand)	GAL	672	\$	3.05	\$	2,049.6
7.00	Emulsion for Fog Seal	GAL	672	\$	3.00	\$	2,016.0
8.00	Chip Seal Driveways	EA	10.00	\$	300.00	\$	3,000.0
						\$	20,206.4
	Church Ave						
4.00	Double Application Chip Seal	SY	623.00	\$	4.30	\$	2,678.9
6.00	Emulsion (prime for base including sand)	GAL	137	5	3.05	\$	417.8
7.00	Emulsion for Fog Seal	GAL	137	\$	3.00	\$	411.0
8.00	Chip Seal Driveways	EA	2.00	\$	300.00	\$	600.0

FROM:

10/1/2021

9021 Wire Road

Ph: 813-480-1865

Zephyrhills, FL 33540

Asphalt Paving Systems, Inc.

Kris Shane - South Florida Rep

CM3015-WA01

				T		5	4,107.7
	Lee Stoner Rd		1	1			
4.00	Double Application Chip Seal	SY	4,023.00	\$	4.30	\$	17,298.9
6.00	Emulsion (prime for base including sand)	GAL	885	\$	3,05	\$	2,699.2
7.00	Emulsion for Fog Seal	GAL	885	\$	3.00	\$	2,655.0
8.00	Chip Seal Driveways	EA	11.00	\$	300.00	\$	3,300.0
						\$	25,953.1
	Karen Rd						
4,00	Double Application Chip Seal	SY	2,067,00	\$	4.30	\$	8,888.1
6.00	Emulsion (prime for base including sand)	GAL	455	\$	3.05	\$	1,387.7
7.00	Emulsion for Fog Seal	GAL	455	\$	3.00	\$	1,365.0
8.00	Chip Seal Driveways	EA	5.00	\$	300.00	\$	1,500.0
						\$	13,140.8
	Midway Rd						
4.00	Double Application Chip Seal	SY	1,778.00	\$	4.30	\$	7,645.4
6.00	Emulsion (prime for base including sand)	GAL	391	\$	3.05	\$	1,192,5
7.00	Emulsion for Fog Seal	GAL	391	\$	3.00	\$	1,173.0
8.00	Chip Seal Driveways	EA	1.00	\$	300.00	\$	300.0
						\$	10,310.9
	Hagan Ln						
4.00	Double Application Chip Seal	SY	334.00	\$	4.30	\$	1,436.2
6.00	Emulsion (prime for base including sand)	GAL	73	\$	3.05	\$	222.6
7,00	Emulsion for Fog Seal	GAL	73	\$	3.00	\$	219.0
8.00	Chip Seal Driveways	EA	1.00	\$	300.00	\$	300.0
						\$	2,177.8
	Plum Loop						
4.00	Double Application Chip Seal	SY	6,067.00	\$	4.30	\$	26,088.1
6.00	Emulsion (prime for base including sand)	GAL	1,335	\$	3,05	\$	4,071.7
7.00	Emulsion for Fog Seal	GAL	1,335	\$	3.00	\$	4,005.0
8.00	Chip Seal Driveways	EA	33.00	\$	300.00	\$	9,900.0
						\$	44,064.8
	Pirates Bluff Rd						_
4.00	Double Application Chip Seal	SY	2,778.00	\$	4.30	\$	11,945.4
6.00	Emulsion (prime for base including sand)	GAL	611	\$	3.05	\$	1,863.
7,00	Emulsion for Fog Seal	GAL	611	\$	3,00	\$	1,833.0
8.00	Chip Seal Driveways	EA	11.00	\$	300.00	\$	3,300.0
						\$	18,941.9
	Will Young Rd						
4.00	Double Application Chip Seal	SY	1,445,00	\$	4.30	\$	6,213.5
6.00	Emulsion (prime for base including sand)	GAL	318	\$	3.05	\$	969.9
7.00	Emulsion for Fog Seal	GAL	318	\$	3.00	\$	954.0
8.00	Chip Seal Driveways	EA	8.00	\$	300.00	\$	2,400.0
						\$	10,537.4
	Durden Rd			-			
4.00	Double Application Chip Seal	SY	2,889.00	\$	4.30	\$	12,422.7

CM3015-WA01

6.00	Emulsion (prime for base including sand)	GAL	636	\$	3.05	\$	1,939.8
7.00	Emulsion for Fog Seal	GAL	636	\$	3.00	\$	1,908.0
8.00	Chip Seal Driveways	EA	16.00	\$	300.00	\$	4,800.0
						\$	21,070.5
	Winona Bayview Rd						
4.00	Double Application Chip Seal	SY	5,078.00	\$	4.30	\$	21,835.4
6.00	Emulsion (prime for base including sand)	GAL	1,117	\$	3.05	\$	3,406.8
7,00	Emulsion for Fog Seal	GAL	1,117	\$	3.00	\$	3,351.0
8,00	Chip Seal Driveways	EA	25.00	\$	300,00	\$	7,500.0
						\$	36,093.2
	DB Hicks						
4.00	Double Application Chip Seal	SY	8,889.00	\$	4.30	\$	38,222.7
6.00	Emulsion (prime for base including sand)	GAL	1,956	\$	3.05	\$	5,965.8
7.00	Emulsion for Fog Seal	GAL	1,956	\$	3.00	\$	5,868.0
8.00	Chip Seal Driveways	EA	25.00	\$	300.00	\$	7,500.0
				1		\$	57,556.5
	Sheri Lu						
4.00	Double Application Chip Seal	SY	3,556,00	\$	4.30	\$	15,290.8
6.00	Emulsion (prime for base including sand)	GAL	782	\$	3.05	\$	2,385.1
7.00	Emulsion for Fog Seal	GAL	782	\$	3.00	\$	2,346.0
8,00	Chip Seal Driveways	EA	4.00	\$	300.00	\$	1,200.0
				-		\$	21,221.9
	Ann Dr			1			
4,00	Double Application Chip Seal	SY	2,223,00	\$	4.30	\$	9,558.9
6.00	Emulsion (prime for base including sand)	GAL	489	\$	3.05	\$	1,491.4
7.00	Emulsion for Fog Seal	GAL	489	\$	3.00	\$	1,467.0
8.00	Chip Seal Driveways	EA	7.00	\$	300.00	\$	2,100.0
				1		\$	14,617.3
	Parks Rd			-			
4.00	Double Application Chip Seal	SY	1,512,00	\$	4,30	\$	6,501.0
6.00	Emulsion (prime for base including sand)	GAL	333	\$	3.05	\$	1,015.0
7.00	Emulsion for Fog Seal	GAL	333	5	3.00	\$	999.0
8.00	Chip Seal Driveways	EA	6.00	\$	300.00	\$	1,800.0
				1		\$	10,316.2
	Lance Rd			+		-	
4.00	Double Application Chip Seal	SY	2,012.00	\$	4.30	\$	8,651.0
6.00	Emulsion (prime for base including sand)	GAL	443	\$	3.05	\$	1,351,1
7.00	Emulsion for Fog Seal	GAL	443	\$	3,00	\$	1,329.0
8.00	Chip Seal Driveways	EA	4.00	\$	300.00	\$	1,200.0
				-		\$	12,531.7
	Roy Booth Rd			1		-	
4.00	Double Application Chip Seal	SY	2,000.00	\$	4.30	\$	8,600.0
6.00	Emulsion (prime for base including sand)	GAL	440	\$	3,05	\$	1,342.0
7.00	Emulsion for Fog Seal	GAL	440	\$	3.00	\$	1,320.0
8.00	Chip Seal Driveways	EA	7.00	\$	300.00	\$	2,100.0

				1	Total	\$ 474,115.3
				-		
2.00	Maintenance Of Traffic	2%	1.00	\$	8,855.20	\$ 8,855.20
1.00	Mobilization	EA	3.00	\$	7,500.00	\$ 22,500.0
				-		\$ 39,038.6
8.00	Chip Seal Driveways	EA	20,00	\$	300.00	\$ 6,000.0
7.00	Emulsion for Fog Seal	GAL	1,291,00	\$	3.00	\$ 3,873.0
6.00	Emulsion (prime for base including sand)	GAL	1,291.00	\$	3.05	\$ 3,937.5
4,00	Double Application Chip Seal	SY	5,867.00	\$	4.30	\$ 25,228.1
	Fouracre Circle					
-						\$ 11,708.8
8.00	Chip Seal Driveways	EA	14.00	\$	300.00	\$ 4,200.0
7.00	Emulsion for Fog Seal	GAL	293	\$	3.00	\$ 879.0
6.00	Emulsion (prime for base including sand)	GAL	293	\$	3.05	\$ 893.6
4.00	Double Application Chip Seal	SY	1,334.00	\$	4.30	\$ 5,736.2
	Marlee Rd			-		
						\$ 13,362.0

Respectfully Submitted,

heis D. Shane

Asphalt Paving Systems, Inc. Zephyrhills, Florida c: 813-480-1865

e: k.shaneaps@gmail.com

Accepted By:

Signature:

Date:

* Proposal valid for 30 days.

DocuSign Envelope ID: 60414730-E704-4D65-9A39-E6B9953FB622

.

CM3015-WA01

K5 PROP#501 -- IN -- Nassau Co - D Chip - Var Rds - \$474K -- 10-1-21.xls

Project Street list

A.	STREET NAME	FROM	TO	LENGTH	WIDTH	TOTAL UNITS	Comments
12	The stand of the	Manual Contractor	A REAL PROPERTY OF	1.2.2	N. C. Fr		
140	Midway Rd	R BREAT ON SAME		800	20.0	1,777.78	
	Hagan Lu	Contraction of the		150	20.0	333.33	
	Plum Loop			2,730	20,0	6,066.67	
	Pirates Bluff Rd			1,250	20.0	2,777.78	
-	Will Young Rd			650	20,0	1,444.44	
	Durden Rd			1,300	20.0	2,808.89	
	Winona Bayview Rd	Care Street		2,285	20.0	5,077.78	
2	DB Hicks			4,000	20.0	6,880.89	
100	Sheri Ln			1,600	20.0	3,555.56	
100	Ann Dr			1,000	20.0	2,222,22	
	Parks Rd			680	20,0	1,511.11	
	Lance Rd			905	20.0	2,011.11	
	Roy Booth Rd			900	20.0	2,000.00	-
	Marlee Rd			600	20.0	1,333.33	
-	Fouracre Circle			2,400	22.0	5,866.67	
	Christopher Lane	Winterberry Ave	DE	1,030	20.0	2,288.89	
	Duck Lake Dr E	Duck Lake Dr	East to Winterberry Ave PC	1,610	20.0	3,577.78	
1	Condor Lane	Winoa Bayview Rd	DE	980	20.0	2,177.78	
	Fouraker Rd	Church Ave	US 301	1,375	20.0	3,055.56	
	Church Ave	US 301	DE	280	20.0	622.22	
	Lee Stoner Rd	PC on Lee Stoner	DE	1,810	20,0	4,022.22	
	Karen Rd	Sherry Lane	DE	930	20,0	2,066.67	
1			The second second second		No. 19		
				29,265.00		65,567	



Asphalt Paving Systems, Inc. Kris Shane - South Florida Rep Zephyrhills, PL 33540 Ph: 813-480-1865



PAGE 1 OF 6 DEPARTMENT

VENDOR NAME/ADDRESS

Asphalt Paving Systems 9021 Wire Road

96135 Nassau Place Suite 1 Yulee, FL 32097

Zephyrhills, FL 33540 Phone (813) 480-1865

David Hearn RD013 **REQUESTED BY:**

						\$474,115.35	
	DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT		
	Double Chip Seal Various Roads- #CM3015	-				03404541-546	000 DCHP
	Dates 10-01-21 to 09-30-23						
	Christopher Lane						
1	Double Application Chip Seal	2289	sy	\$4.30	\$9,842.70		
2	Emulsion (prime for base including sand)	504	gal	\$3.05	\$1,537.20		
3	Emulsion for Fog Seal	504	gal	\$3.00	\$1,512.00		
4	Chip Seal Driveways	14	each	\$300.00	\$4,200.00		
				Sub Total	\$17,091.90		
	Duck Lake Dr E						
5	Double Application Chip Seal	3578	sy	\$4.30	\$15,385.40		
6	Emulsion (prime for base including sand)	787	gal	\$3.05	\$2,400.35		
7	Emulsion for Fog Seal	787	gal	\$3.00	\$2,361.00		
8	Chip Seal Driveways	15	each	\$300.00	\$4,500.00		
				Sub Total	\$24,646.75		
	Condor Lane						
9	Double Application Chip Seal	2178	sy	\$4.30	\$9,365.40		
10	Emulsion (prime for base including sand)	479	gal	\$3.05	\$1,460.95		
11	Emulsion for Fog Seal	479	gal	\$3.00	\$1,437.00		
12	Chip Seal Driveways	6	each	\$300.00	\$1,800.00		_
_				Sub Total	\$14,063.35		
	Fouraker Road						
13	Double Application Chip Seal	3056	sy	\$4.30	\$13,140.80		
14	Emulsion (prime for base including sand)	672	gal	\$3.05	\$2,049.60		
15	Emulsion for Fog Seal	672	gal	\$3.00	\$2,016.00		
16	Chip Seal Driveways	10	each	\$300.00	\$3,000.00		
				Sub Total	\$20,206.40		
	VANCE COPY		-			Subtotal	

COPY- DEPARTMENT COPY

Total \$76,008.40

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy. Voug Podiak

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. Marshall Eurman 11/9/2021

County Manager

I certify that to the best of my brandedge, the appropriate staff have reviewed and approved this Requisition and no other conditions would prevent approval. 11/9/2021

VENDOR NAME/ADDRESS Asphalt Paving Systems

9021 Wire Road Zephyrhills, FL 33540

Pho

ITEM

96135 Nassau Place Suite 1 Yulee, FL 32097

PAGE 2 OF 6 DEPARTMENT

15						David Hearn	
			Internet i con onto	PD IN CONTRACTOR		REQUESTED BY	
EURCHASE DADER NUM			I	CK DATE	FOREINSHURD	ERIOTAL DISCOUN	
DESCRIETION	QUANTITY	UNIT	UNIT PRICE	AMOUNT			
Double Chip Seal Various Roads- #CM3015					034	04541-546000 DCHP	
Dates 10-01-21 to 09-30-23							
Church Avenue							
Double Application Chip Seal	623	sy	\$4.30	\$2,678.90			
Emulsion (prime for base including sand)	137	gal	\$3.05	\$417.85			
Emulsion for Fog Seal	137	gal	\$3.00	\$411.00			
Chip Seal Driveways	2	each	\$300.00	\$600.00			
			Sub Total	\$4,107.75			
Lee Stoner Road							
	4023	SV	\$4.30	\$17,298.90			
	885		\$3.05				
	885	_	\$3.00				
	11	each					
			Sub Total	And Annual An			
Karen Road							
	2067	SV	\$4.30	\$8,888.10			
	455		\$3.05				
	-		\$3.00				
	5		\$300.00	and the second se			
Midway Road							
	1778	SV	\$4.30	\$7,645.40			
Emulsion (prime for base including sand)							
	391						
	1	each	\$300.00	\$300.00			
			Sub Total				
	Double Chip Seal Various Roads- #CM3015 Dates 10-01-21 to 09-30-23 Church Avenue Double Application Chip Seal Emulsion (prime for base including sand) Emulsion for Fog Seal Chip Seal Driveways	Description Quantifies Double Chip Seal Various Roads- #CM3015 Duates 10-01-21 to 09-30-23 Quantifies Church Avenue 623 623 Emulsion (prime for base including sand) 137 Emulsion for Fog Seal 137 Chip Seal Driveways 2 Lee Stoner Road 4023 Emulsion (prime for base including sand) 885 Emulsion for Fog Seal 4023 Emulsion (prime for base including sand) 885 Emulsion for Fog Seal 4023 Emulsion for Fog Seal 4023 Emulsion for Fog Seal 4023 Emulsion for Fog Seal 885 Chip Seal Driveways 11 Karen Road 2067 Emulsion for Fog Seal 455 Emulsion for Fog Seal 455 Chip Seal Driveways 5 Midway Road 2067 Double Application Chip Seal 1778 Emulsion (prime for base including sand) 391	PURCHASPORDER NUMBER Double Chip Seal Various Roads- #CM3015 Dates 10-01-21 to 09-30-23 Church Avenue Double Application Chip Seal 623 Sy Emulsion (prime for base including sand) 137 gal Chip Seal Driveways 2 each Double Application Chip Seal 4023 Sy Emulsion for Fog Seal 137 gal Chip Seal Driveways 2 each 128 Emulsion (prime for base including sand) 885 gal Chip Seal Driveways 1 each Karen Road Double Application Chip Seal 2067 Sy Emulsion (prime for base including sand) 455 gal Emulsion for Fog Seal 2067 Sy Emulsion for Fog Seal Chip Seal Driveways 5 each	DURCHASE ORDER NUMBERPURCHASE ORDDURCHASE ORDDURCHASE ORDDouble Chip Seal Various Roads- #CM3015Dates 10-01-21 to 09-30-23Church AvenueDouble Application Chip SealDouble Application Chip SealDouble Application Chip SealChurch AvenueDouble Application Chip SealDouble Application Chip Seal137gal\$3.00Chip Seal Driveways2each\$300.00Emulsion for Fog SealA023sy \$4.30Emulsion (prime for base including sand)885galSub TotalLee Stoner RoadDouble Application Chip Seal4023sy \$4.30Emulsion for Fog Seal885gal\$3.00Chip Seal Driveways1each\$3.00Chip Seal Driveways1each\$3.00Chip Seal Driveways5each\$3.00Chip Seal Driveways<	PURCHASE/ORDER NUMBERPURCHASE/ORDER NUMBERDescriptionCANOURT DESCRIPTIONDouble Chip Seal Various Roads- #CM3015CINITUNIT PRICE*********************************	RD013 PURCHASE ORDER DATE RD013 PURCHASE ORDER DATE ORDER DATE ORDER DATE ORDER DATE ORDER DOUDLE Application Chip Seal 137 gal \$3.05 \$417.298.90 Emulsion for Fog Seal 885 gal \$3.00 \$2,698.25 <th c<="" td=""></th>	

ORI COPY- DEPARTMENT COPY

Total \$53,512.70

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy. Doug Podiak

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. 11/9/2021 Marshall Eyerman

County Manager

I certify that, to the best of my knowledge, the appropriate staff have reviewed and approved this Requisition and no other conditions would prevent approval. Taco E. Popel AICP 11/9/2021

VENDOR NAME/ADDRESS

Asphalt Paving Systems

9021 Wire Road

Zephyrhills, FL 33540

Phone (813) 480-1865 VENDOR NUMBER

96135 Nassau Place Suite 1 Yulee, FL 32097

PAGE 3 OF 6 DEPARTMENT

David Hearn **REQUESTED BY:** RD013 EURCHASE ORDER DATE PURCHASE ORDER TOTAL DISCOUNT TERMS

	Double Chip Seal Various Roads- #CM3015					03404541-546000 DCHP
	Dates 10-01-21 to 09-30-23					
	Hagan Lane	-		1		
33	Double Application Chip Seal	334	sy	\$4.30	\$1,436.20	
34	Emulsion (prime for base including sand)	73	gal	\$3.05	\$222.65	
35	Emulsion for Fog Seal	73	gal	\$3.00	\$219.00	
36	Chip Seal Driveways	1	each	\$300.00	\$300.00	
				Sub Total	\$2,177.85	
	Plum Loop					
37	Double Application Chip Seal	6067	sy	\$4.30	\$26,088.10	
38	Emulsion (prime for base including sand)	1335	gal	\$3.05	\$4,071.75	
39	Emulsion for Fog Seal	1335	gal	\$3.00	\$4,005.00	
40	Chip Seal Driveways	33	each	\$300.00	\$9,900.00	
				Sub Total	\$44,064.85	
-	Pirates Bluff Road					
41	Double Application Chip Seal	2778	sy	\$4.30	\$11,945.40	
42	Emulsion (prime for base including sand)	611	gal	\$3.05	\$1,863.55	
43	Emulsion for Fog Seal	611	gal	\$3.00	\$1,833.00	
44	Chip Seal Driveways	11	each	\$300.00	\$3,300.00	
				Sub Total	\$18,941.95	
	Will Young Road					
45	Double Application Chip Seal	1445	sy	\$4.30	\$6,213.50	
46	Emulsion (prime for base including sand)	318	gal	\$3.05	\$969.90	
47	Emulsion for Fog Seal	318	gal	\$3.00	\$954.00	
48	Chip Seal Driveways	8	each	\$300.00	\$2,400.00	
				Sub Total	\$10,537.40	
		-				

COPY- DEPARTMENT COPY

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy.

PURCHASE ORDER NUMBER

Doug Podiak

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. Marsual Eyerman 11/9/2021

County Manager

I certify that, to the best of my brewledge, the appropriate staff have reviewed and approved this Regulsition and no other conditions would prevent approval. Tace E. Vope ALCP

Total

\$75,722.05

VENDOR NAME/ADDRESS

Asphalt Paving Systems

9021 Wire Road

Zephyrhills, FL 33540

96135 Nassau Place Suite 1 Yulee, FL 32097

PAGE 4 OF 6 DEPARTMENT

(813) 480	0-1865					-	David Hearn
						RD013	REQUESTED BY:
NUMBER	PURCHASE ORDER NUM	BER		PURCHASEORD	ERDATE	PURCHASE OR	DER TOTAL DISCOUNT
Sec. R. Income				TRUT DOVOT	Intorner a		
	Double Chip Seal Various Roads- #CM3015	QUANTITY	UNI	UNIT PRICE	AMOUNT	034	04541-546000 DCHP
	Dates 10-01-21 to 09-30-23		-	1			
	Durden Road						
49	Double Application Chip Seal	2889	sy	\$4.30	\$12,422.70		
50	Emulsion (prime for base including sand)	636	gal	\$3.05	\$1,939.80		
51	Emulsion for Fog Seal	636	gal	\$3.00	\$1,908.00		
52	Chip Seal Driveways	16	each	\$300.00	\$4,800.00		
				Sub Total	\$21,070.50		
	Winona Bayview Road						
55	Double Application Chip Seal	5078	sy	\$4.30	\$21,835.40		
56	Emulsion (prime for base including sand)	1117	gal	\$3.05	\$3,406.85		
57	Emulsion for Fog Seal	1117	gal	\$3.00	\$3,351.00		
58	Chip Seal Driveways	25	each	\$300.00	\$7,500.00		
				Sub Total	\$36,093.25		
	DB Hicks						
59	Double Application Chip Seal	8889	sy	\$4.30	\$38,222.70		
60	Emulsion (prime for base including sand)	1956	gal	\$3.05	\$5,965.80		
61	Emulsion for Fog Seal	1956	gal	\$3.00	\$5,868.00		
62	Chip Seal Driveways	25	each	\$300.00	\$7,500.00		
				Sub Total	\$57,556.50		
	Sheri Lane						
85	Double Application Chip Seal	3556	sy	\$4.30	\$15,290.80		
86	Emulsion (prime for base including sand)	782	gal	\$3.05	\$2,385.10		
87	Emulsion for Fog Seal	782	gal	\$3.00	\$2,346.00		
88	Chip Seal Driveways	4	each	\$300.00	\$1,200.00		
				Sub Total	\$21,221.90		
						1	

ORIGINAL - FINANCE COPY COPY- DEPARTMENT COPY

Total \$135,942.15

Subtotal

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy. Doug Podiac

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. Marshall Eyrman 11/9/2021

County Manager

I certify that to the best of my knowledge, the appropriate staff have reviewed and approved this Regulsition and no other conditions would prevent approval, 11/9/2021

PAGE 5 OF 6 DEPARTMENT

VENDOR NAME/ADDRESS Asphalt Paving Systems

9021 Wire Road

96135 Nassau Place Suite 1 Yulee, FL 32097

Zephyrhills, FL 33540 Phone (813) 480-1865

David Hearn **REQUESTED BY:**

RD013

	DESCRIPTION	QUANEITY	UNIT	UNITPRICE	AMOUNT	
	Double Chip Seal Various Roads- #CM3015					03404541-546000 DCHP
	Dates 10-01-21 to 09-30-23					
	Ann Drive					
63	Double Application Chip Seal	2223	sy	\$4.30	\$9,558.90	
64	Emulsion (prime for base including sand)	489	gal	\$3.05	\$1,491.45	
65	Emulsion for Fog Seal	489	gal	\$3.00	\$1,467.00	
66	Chip Seal Driveways	7	each	\$300.00	\$2,100.00	
				Sub Total	\$14,617.35	
	Parks Road					
67	Double Application Chip Seal	1512	sy	\$4.30	\$6,501.60	
68	Emulsion (prime for base including sand)	333	gal	\$3.05	\$1.015.65	
69	Emulsion for Fog Seal	333	gal	\$3.00	\$999.00	
70	Chip Seal Driveways	6	each	\$300.00	\$1,800.00	
				Sub Total	\$10,316.25	
	Lance Road					
71	Double Application Chip Seal	2012	sy	\$4.30	\$8,651.60	
72	Emulsion (prime for base including sand)	443	gal	\$3.05	\$1,351.15	
73	Emulsion for Fog Seal	443	gal	\$3.00	\$1,329.00	
74	Chip Seal Driveways	4	each	\$300.00	\$1,200.00	
				Sub Total	\$12,531.75	
	Roy Booth Road					
75	Double Application Chip Seal	2000	sy	\$4.30	\$8,600.00	
76	Emulsion (prime for base including sand)	440	gal	\$3.05	\$1,342.00	
77	Emulsion for Fog Seal	440	gal	\$3.00	\$1,320.00	
78	Chip Seal Driveways	7	each	\$300.00	\$2,100.00	
				Sub Total	\$13,362.00	-
		-				

COPY- DEPARTMENT COPY

\$50,827.35

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy.

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. Marsual Eyrman 11/9/2021

County Manager

I certify that, to the best of my knowledge, the appropriate staff have reviewed and approved this Regulstition and no other conditions would prevent approval. Take E. Popel AICY 11/9/2021

Total

VENDOR NAME/ADDRESS

Asphalt Paving Systems

9021 Wire Road

Zephyrhills, FL 33540

96135 Nassau Place Suite 1 Yulee, FL 32097

PAGE 6 OF 6 DEPARTMENT

Phone (813) 480	-1865		David Hearn					
and the state of t			AND DESCRIPTION OF	and the second		RD013		STED BY:
TENDOR NUMBER	PURCHASE ORDER NUM	BER		PURCHASE ORDER	DATE	PURCHASE ORDE	CIOTAL	DISCOUNT TERMS
TEM NO.	DESCRIPTION	QUANTITY	UNIT	UNITPRICE	AMOUNT			
	Double Chip Seal Various Roads- #CM3015					0340	4541-546000	DCHP
	Dates 10-01-21 to 09-30-23							
	Made David							
	Marlee Road	1001		64.00	PE 700 00			
79	Double Application Chip Seal	1334	sy	\$4.30	\$5,736.20			
80	Emulsion (prime for base including sand)	293	gal	\$3.05	\$893.65			
81	Emulsion for Fog Seal	293	gal	\$3.00	\$879.00			
82	Chip Seal Driveways	14	each	\$300.00	\$4,200.00			
				Sub Total	\$11,708.85			
	Fouracre Circle							
79	Double Application Chip Seal	5867	sy	\$4.30	\$25,228.10			
80	Emulsion (prime for base including sand)	1291	gal	\$3.05	\$3,937.55			
81	Emulsion for Fog Seal	1291	gal	\$3.00	\$3,873.00			
82	Chip Seal Driveways	20	each	\$300.00	\$6,000.00			
				Sub Total	\$39,038.65			
83	Mobilization	3	each	\$7,500.00	\$22,500.00			
84	Maintenance of Traffic	1	2%	\$8,855.20	\$8,855.20			
		-						

ORIGINAL - FINANCE COPY COPY- DEPARTMENT COPY

Total \$82,102.70

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy.

11/9/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. Marshall Eyerman 11/9/2021

County Manager

I certify that to the best of my knowledge, the appropriate staff have reviewed and approved this Requisition and no other conditions would prevent approval. Tace E. PPL AICH

Subtotal